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Instruction (A) : Question No. 1 is an objective type
question. It has three Parts - Part (A), Part (B) and Part

(C). Part (A) has multiple choice type questions. Part (B)
has fill in the blanks and Part (C) has match the following.

Each Part has 5 questions and each question carries 1
mark. |

-1 (@98 - 3) Fe e g fefaw: [1x5=5]
(Part — A) Choose and write the correct option:
() faora o awafas g 2-
() IEH @) SfarvyaRnd
(@) aERa @) . JgFaaft
Real meaning of development-
(a) From incoiie (b) By life expectancy
(¢) By liferacy rate -~ (d) All of the above

(i) i F verww ooy

(3) 3T A @ Rmageaa
WIEREZIGE:S @ dEEma

The type of soil is determined-

(a) From landform

(b) From snow erosion

(c) From water sources

(d) From globalization
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(3)
(i) T G O I3 F AT R oy i -
(N TR
@ Rt
@ TA@ARE K
@ aghtareh reds
Soil fertility due to long-term use of chemical
fertilizers-
(a) Increases
(b) Remains stable-
(c) isreduced
(d) sometimes it increases and sometimes 1t
remains stable

o (iv) & sHify S () 9-

(@) wfew @) . feem
@) @) SR F=iew
____was the father (leader) of Russian Revolution.
(a) Stalig (b) Hitler
(c) Jenin (d) Czar Nicholas
(v) 90 vfivE a& TRk e S a==iwra
T T 27
(3N 2T% @ 394
@) 499 | @ s
At what age children reach 90% mental
development? '
(a) 2 years (b) 3 years
(c) 4 years (d) S years
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-l (@S - ¥) e st A gfd fifs |1x5=5]
(Part - B) Fill in the blanks:

()

(i1)

(iii)

iv)

v)

K-241300-B

aTgeie RS e & S & A 2
The author of the book silent spring is .

= 0 &1 Faior FTAT

determines the interest rates.

A H 6 AR dH & I3l Fl B F I <AT
ey

Children upto 6 months of age should be given
as food.

EUCRIGRIS G A ad it TG T E T

In India adult franchise is obtained on completion
of years of age.

T ARIRF IS FER FEd €
The unit between village and city iscalled .
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(5)

weA-1  (@U% - ) e e sifee; [1x5=5]
(%) @
(i) AR (3) dFERE
(ii) ¥ @ =Tz

(iii) Tgfafram @ 100 Al 1 T
(iv) felzamifr @ IegR=eN
(v) gurEEzaE @ TIGF

(Part — C) Match the following:

(A) (B)
(i) Income tax (a) Bauxite
(i) MANREGA (b) Internet
(ii1)) Aluminum (c) 100 davs
employment

(iv) Digital revolution (d) Azad Hind Fay)
(v) Subhash Chandra Bose (e) Darecttax

e (@) FA16 2 § 6 7 FT agIHT TH & T4S
W W 2 3% NEa 8 @R f Ffwwaw v € 30
TR ?)

Instruction (B) : Question No. 2 to 6 are very short answer

type questions. Each question cames 2 marks. (Maximum
word-limit of answer is 30 words)

-2 R e s wr Al 2]
Explain the nxaning of *Sink Capacity”.
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(6)

a¥-3 mﬁqaﬁmmﬁm&aﬁwmmaﬁaw%?

What is the most abundant metallic mineral found In
India?

TH4 Qe @l waa & 9 fafag

Write the names of two main Kharif Crops.

Y5 TR & Forg F9e T S €7 S 0 o gat it f
ATt 87

Why is budget important for the government? Why are
taxes discussed in the budget?

W6 A s e

What is “Chronic Hunger?

& (@) : iR 7.8 10 7% aify agswiT T &
YH GTT 3 e AT §) (ST it Aifraran wreg-wiwy
5072 ®)

Instruction (C) : Question No. 7 to 10 are very short
answer type questions. Each question carries 3 marks.
(Maximum word-limit of answer is 50 words)

UH-7 ST A § A e &
What figures do we get in census?
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[1+1=2]
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[1+1+1
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(7)
v SHeEw R i TR ara A ¥ eNm e [2+1=3)

- What is Colonization? When did Colonial rule end in
India?

A9 GO T ST T ST I A G | T [141+1
gfereT 9T gt 27 | | =3

What facilities can the public get from the Panchayat by
using the Right to Information?

U100 AT A DR TRE B BT A FARA FAAFEA 141+

qar &? =3)

What challenges do small producers face due to
globalization? | i T

9 (2) : T HAIF 119 14 T TY-5709 T 8 54
e ¥ I e 1 s T W 4 3 e &

(S F Fferwan wee-dinr 75 71 )

Instruction (E2)2"'Question No. 11 to 14 are short answer

type questions. Each question has internal option. Each

question carries 4 marks. (Maximum word-limit of
answer is- 75 words)

weR-11 3R {5 s feret wifta et @ o i & wfizemsdl At [1+1+1+

fearfer we = -y wgan ‘ 1=4)

If Hindu Code Bill (Law) would have not passed, what
effect would have been on women of India?
AYAT

OR
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(8)
WTHT AT T 7137 &/ FT-HRT Fehrledsh 1 g7
What were the positive effects of the formation of

language based states?
weA-12 o favages & SR HRUi & Ieid H [1+1+1+
Mention four reasons for World War I1. 1=4|
HYJT
OR
widtaTR & R T fafey

Write four characteristics of fascism?

WER-13  “1914 3. 9 TRV §U I &l favaqeg Feromaraimg@ T [1+1+1+
R IPE R 1=4]
The war that started in 1914 AD is called World War.

Confirm this statement.
HYUGQT

OR .
g |9 Fi vk & fedt ar Rzl =t foifay
Write any four principles of the League of Nations was
established?

WEA-14 AR GEITH U ST GEeT A S R? - (1114
What is the difference between renewable resources and 1=4]

non-renewable resources?
' HYQT

OR '
e stffienT 2013 w ye Stiig
Throw light on land acquisition act 2013,
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®
39T (3) : T FAIH 15 TH 16 Siel-Tadier ST ) T S
3 e fraed 21 ek T T 5 3idh FATated 8 (ST H
Hftreran e2-dT 100 T2 ©)
Instruction (E) : Question No. 15 and 16 are long answer
type questions. Each question has internal option. Each

question carries 5 marks. (Maximum word-limit of
answer is 100 words)

15 FrIreEtor Y SIaTERd i &7 [14+1+1+
Why was disarmament needed? 1+1=5]
T
OR
iR e @y frdtvand fafaq

Write the main features of social movement.

.16 T R e &2 F o T 0 S SO AT, SAEG [
firdt anfe 1 SEvaar Rl el 87 =S
What is lgan? Why some condition like interest rate,
time, guarantor, mortgage etc. are essential for loan?
| HUAQT
OR
af et P e e A o P T @ A g

TS WG ST I T ST T

If the Reserve Bank of India does not control
commercial banks, what will be the impact on the
currency and credit system?
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(10)

339 (%) : T FHIF 17 G 18 HH-Iq07 I 81 TF T
¥ Il fashed 81 T® W9 9T 6 e JTafed 8 (JTh
St TeR-HAT 150 T3 ) |

[nstruction (F) : Question No. 17 and 18 are long answer
type questions. Each question has internal option. Each
question carries 6 marks. (Maximum word-limit of
answer 15 150 words)

W17 s A SN A, & Wher 3 7w oy e AR [3+3=6)
G 8 |

What similarities and differences do you see between
print media and T.V. communication?

YT
OR
SHER ATt R 7wt fafag
Write the adtvantages and disadvantages of mass media,

- WER-18 NG o Ui ot vt T w A e A e ARG (14141
Briefly discuss the powers and functions of the President +1+141
of India. =6)
AT '
OR
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(11)

- el S s O gl 3 T e a d 9
T Tt 3R g A 99, o - el A
g fRrmrde
In Indian democracy, The Prime Minister works like an
axis. He should not be autocratic and become dictator,
for this which methods are precised?
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